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E(Bl) =B; ¢ il e Lald o
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rof and By o Aalally el aae duald e (39.2) Aladdl ) gsa )l
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1 2
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1 2
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C; = K; + d,
Al S d; Gus o dp =0 s
~Y; = By + B, X; + U
B; = Z C; (By + ByX; + U oo oo (50.2)

B: = Boz C; + Blz CX; + 2 CXU,

Y] el € s of s E(BY) = By gl smie 2 By 055 (Sl
»C;=0 (I

YKi+Yd; =0

SYK =00 ¢ e ddgpae

2d; =0 -
2 Y€ =0 ;o)
XCXi=1 (<«

YK X +YdX; =14

RHWOR-EPRIO

NKX =1
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.-.zcxi=1+0+1

B! = B, + z CUj .. (51.2)

) GEWU) =0
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B; = B1 + z CiUi
B; - B1 - z CiUi
2
var(BY) = E [Z GU;| ..(532)

e dhant (gl elag
var(B}) = z CZE(U)*+2 Z CiC; E(CC;)

1(52.2) a8 dalaall (e

:(51.2) Al Aalaal) aladinlys

i>j
E(U;)? = o2 gl sl ciloca i (pag
E(UU;) =0 1y
var(B}) = z Cro?......(54.2)
Ci :Ki+di renlS Ldj
2
var(By) = z (Ki + z d;) o
var(B;) = 02 Z K? + Z d? + ZK-d-]
var(B}) = o ZK2+J Zdz + 202 ZKd
zKl -0
zKld =
var(BY) = o Z K? + o z d? ......(552)
YK = Zi eilS L
par(BY) = 0% —— + o2 z d? (56.2)
1 Z xiz [ =oe ven see nen .
2 1 *
o a2 = var(B7)
« var(B,) = var(B,) + o2 Z d? ........(57.2)
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pallad) Ayl e X Jlialy
> hi=nBy+B ) X,
n A_A; Mb‘j
Y, n. DW.€
£f_ng 5 LK
n n n
? = BO + Bl)? pan awe wen mee waes (59.2)
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2 _ Sef
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24



